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Unit 3A: Polynomials
3A.1 Like Terms & Distribution

Recall from Math 9

Term:

Monomial:

Binomial:

Trinomial:

Degree:

Like Terms:

Ex. Simplify. State type and degree of each polynomial answer.

a) 2x+3-y—-5+3x—-12y

b) x? + 4x — 3 — x + 2x?

c) —3x%+2xy? +x%—1—4x’y +5xy? +3



Distribution:

Ex. Simplify. State type and degree of each polynomial answer.

a) 3(6x+2)

b) 5—2(x+1)

c) 3x?(2x3*-3x+1)

d) —3x%y+4y(2—x?) -2y

e) 2x—-5z+y)—(7x+4y—2z)

f) 4x2x+1)—-GBx+1)+x*-2)
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3A.2 Polynomial Multiplication

Exploring Polynomial Multiplication

Multiply: 13 X 11 =

Use the area model below to multiply 13 x 11:
10 3

10

Use algebra tiles to determine the product:
(x+3)(x+1) (x+5)(x—-2)

R2x+4)3x—-1)

Complete pg. 209/#



Can also use the distributive property to multiply polynomials:

Ex. Simplify:
x-2)2x+1) (x—3)(x—-5)
(5m — 1)(2m — 6) (b — 4)?

Can be extended to multiplication of larger polynomialis:
Ex. Simplify:

(x+2)(2x%2 —5x + 1) (g2+q—-2)(2¢ —3q+1)

Practice: pg. 209/ #
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3A.3 Polynomial Division

Polynomial = Monomial (recall from Math 9)

Ex.
4x+2

2

* turn into a series of monomial/monomial divisions

4x 2

2 2

6x3—-12x2 15x3y2—10xy*+25xy3

Ex.—— Ex
3x —5xy2

Polynomial <+ Binomial (Long Division)
Recall from grade ???

Ex. Solve by long division: 612 + 5

dividend . remainder
*note: = quotient + ———

divisor divisor



Similar for polynomial division:

Ex. Solve:
6x2+7x+9+2x+1 —-3x+5+x%2+x—-2
8x?+11—-6x+2x—-3 9m2 —-5+3m+ 2

Practice: Worksheet (B-25/C-13)/ work on separate sheet



-<===1 Why Did King Kong Eat a Truck ? taes=—

Circle the appropriate number-letter pairs in each column. Write the letter in the matching
numbered box at the bottom of the page. (Hint: You should circle 11 number-letter pairs
in each column.)

Circle the number-ietter of
each TRUE STATEMENT:

Circle the number-letter
of each TRINOMIAL SQUARE:

8-S | (x+22%=x2+4x+4 6-A | n°+6n+9

13-E | (@a—5)>=a®-10a+25 11-N | x%—14x + 49

10-A ]| (u+8)?=u?+ 16U + 64 ' 3-R | a2+2a+4

2-H | (m—4)>=m?-16m+ 16 7-Y | ¢®+2¢c+1

118-G | (Bx+1)>=9x*+6x + 1 12-B | k* — 5k + 25

14-D | (5t — 2)2 = 25t° — 20t + 4 21-C | x2—12x + 36

4-P | (2b+3)°=4b*+12b+6 3-A | 4P +12t+9

20-A | (2n+7)2=4n%+28n + 49 12-T | 81x2—18x + 1

| 2-E | (10d — 4)*=100d* — 80d + 16 17-L | 4m® +8m + 16

5-K | (8x—1)2=16x2— 16X + 1 16-B | 9w? — 24w + 16

7-R | (4w +5)2 = 16w? + 20w + 25 O-F | 25t2 —45t+9

4-L | x®3—3)2=x*-6x2+9 | 22-D | 4x* +8x°+ 1

11-T | (k?+9)? = k* — 18k® + 81 | 9-W | a®+2ab +b?

5-W | (2a + b)?> = 4a° + 4ab + b? 22-K | 4m? + 20mn + 25n?

15-A | (3u —2v)2 = 9u® — 12uv + 4v? | 19-L | 9a® — 27ab + 9b?

| 6-E | (8a + b)2=64a> + 8ab + b2 17-1 | 100u? - 60UV + 9v?

{_| (c? — 6d?)? = ¢* — 12¢?d? + 36d* 8-E | 100a2 + 20ab + 4b?

21-1 | (2xy — 5) = 4x3y® — 20xy + 10 19-M | 9x* + 6x%2 + y*
2|3|a|5|6|7|8|9]|10[11|12]13|14|15|16[17|18|19[20|21

i

OBJECTIVE 3-i: To find squares of binomials; to recognize trinomial squares.

ALGEBRA WITH PIZZAZZ!
© Creative Publications
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OBJECTIVE 3—b: To divide a polynomial by a monomial.
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OBJECTIVE 2—a: To divide a polynomial by a binomial.
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Adding and Subtraciing Polynomials [t226e-,

(4x +2) +(x~1)
(5a-2b+4) +(Ra+b+2)

(3a +2b)-(a-b)

(x®+y?-ab)-(x*-y* +ab)

(4a? - 5ab - 6b? + (10ab - 6a? - 81?)

(4x2-2x-3) - (-5x - 4) _
(4?2 - 4ab -b?) + (a2 -b?) + (2ab + a? + b?)

(B2 -6+ 3x-1) - (B +4x°-2x + 3)

(ca+2b)+(@b-~-4c) +(ba-7c) +3b

OC=2xy +¥2) - (x2-2xy ty?)

X +3y) +(:3x-y)=(X-Y)

(22 +.3y2-28) - (@ - y2 - 2%) + (4x* - 3y?)

(2x +3) + (-2 + x - 5)

@Ry +3x-4)+(P-8y-50+(Bx+4y-2)

(2y*+8)-(3y*-4y-6)

(7y +4x+ 9 -(bx-8y + 11)
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Find Thé perimefer.

new o

17, 2x-6 18.

2x + 1
X+3 X+ 3 X=-2

| - 2x-6 3x -7

(‘w’ Algebra IF8762 23 © MCMXCV Instructional Fair, Inc.
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17.

2 (X2 - xy + 3y?)
-2n (4 + 5n%)
cd (c*d + 2cd? + d)
2xy? (2 - X - %%Y)
(a? - 3ab - 2b?) (-2ab)
“3n (8n - 2n)
(wW2z - 2wz +2) (-9
-3ab? (&®h? - 2a0%D)
42y (92~ bxy2-7)
10. -6k*m2 (2k - 3m + 4km - k2m?)
11. -n?2(n +4n?
12, (4x2-7x) (X
13, 2x2 (x®-2x2+ 8x-5)
14, (-6 (3x2-1)
15, (6x-5%% + 8) (-3%)
16, -Bx2(2x3 +3x2-7x+9)

o~

Find the area.

A=l w

x+4

2X

18. A friangie has a base length (b)
of 2x + 4 and a height (h) of 3y.

(Areq = —;bh)

Algebra IF8762

25
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Algebraic Fractions :

Dividing a Polynomial by a Monomial

: 1. a?+ 2a 9. 14K°m?® - 4k2m?2 + 12kms3
- a 2km?
‘ 2. 14x + 35 ' 10. 12v5 - 27v4 + 18uve
7 Juv?
3. 4y? + 6y 11, 2x2— 10xy
{ ' 2y 2X
‘ 4, Xy - xy? - 12, 3X3y2 - bx2y2 + Gxy2
5 Xy 3xy
f 5, 252 — 15y - 5 13. 622 - 37 + 9
; -5 3z
S 1252 = Ox? + G 14, 6c?+49g 470
3% ' ' e &
7. mN2+m-n 15, b4x4 — 64x3
mn 64x3
; 8. 4502 - 60a%b? - 15a2b 16, 18m3n? - 12m2n3 + 24n?
j -15a%b ém?3n
I .
Algebra [F8762 5] mm
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1.

2,

s2+35-4
4+ :
(Hint: Rewrite denominator ass + 4)

a?+20+3

a+3

X2+ 4
X+2 o
(Hint: Write dividend as x2 + 0x + 4)

3ct+8c+4
‘30-!-'2

br2+r-5
2r-3

o2+ 1
3t +2

2u2 - 3uv - V2
u- 3v

8 Z+Z2-32+9
z+3

Q. 6x+5x2+49
2x + 3

10, 2V +5y2+7y +6
y2ty+2

11, xX¥=x2-2x+10 + x+2

12, 8x+ 13x2+é¥+5 + 3x+5

13, y3=-2y2+3 + y+1

14, -32x+2x3 + 42
2X~-6

Algebra I[F8762

© MCMXCIV instructional Fair, inc.
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Find the perimeter, Find the crea.

A=i-w

7. xid 18. Afriengle has @ base length (5)
- of 2x + 4 and a helght (h) of 3y.
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1.

84354

d+s S-‘

(Hint: Rewrite oenominoror as s + 4)

2. . 0242043 Q_"‘ _‘_.L‘
o+3 ‘&5'3
3 ¥4 &
y — e+ iz
(Hin: Wrtte clividend s =% + Ix + 4)
4, 3ct+bo+d n
L+2 c+l
N T S
Z-3 xw5+5:—
6 2t) 3y 4, S
A+2 P 242
7. 22-3uv-9n
=5 Au+dy

12.

brd 4 5x2 +9Q
Xt 32
3x%2%+3

28+ By 4w 46
Yy el

2y+3
X exlaZx4 10 « x42
RE-3xH ¢ &:
B+ 13ted+5 o Gx+5
2xtaxa|
Y=2y143 « y+1
y*-3y+3

S2gel 7,34




